Exercise: HIV information campaign
Consider the HIV information campaign just described.  Remember, the campaign has two objectives:

1): Will teacher training improve HIV knowledge and cause behavioral change?
2): Will just keeping students in school improve HIV knowledge and cause behavioral change?

Your job is to evaluate which of these is most effective.

A): Suppose you know that in one nearby school district, an NGO has already conducted a training for teachers about HIV.  If you compare the knowledge and behaviors of students in that school district to those in another school district where the NGO doesn’t operate, can you estimate the effectiveness of this NGOs training to learn about teacher training?  Why or why not? Is there additional information which would help?
B):  The current government program has been in place for several years.  Can you test the effectiveness of this program by a RCT?  What are the difficulties (either ethical or practical) in doing this?
C): Consider a possible RCT.  One of them has two groups: one (random) group receives free uniforms and teacher training.  The other is the control group and receives nothing.  Suppose that you find that pregnancy rates go down in treatment schools.  What does this tell you about the effect of free uniforms?

D): Consider an alternate program which has three groups.  One group (T1) receives free uniforms.  Another group (T2) receives teacher training.  The third group is the control.  Suppose you find that pregnancy rates go down by 2% in T1 and by 1% in T2.  What can you conclude about the effectiveness of uniforms and teacher training? 
E):  Suppose a government wants to is considering three policies:

1): Just give free uniforms

2): Just give teacher training.

3): give both. 

Describe an RCT which would allow you to advise the government as to the best course of action.

Part 2: Cost effectiveness: Returning to the RCT in (3),  and consider some data.  Suppose you have 1000 students in each of the three groups. In T1, there were 20 pregnancies.  In T2, there were 30 pregnancies, and in the control group there were 40 pregnancies. These numbers were all collected after one year of the program.
1) How many pregnancies did uniforms prevent this year? What about teacher training?

2): Uniforms can only be used for one year, but people may remember what they learned as a result of teacher training for several.  Suppose that ½ as many pregnancies are also averted in year 2.  Now how many pregnancies did teacher training prevent?

3):  Suppose that the uniforms program cost $10/student.  How much did it cost for each pregnancy averted? 
4): Suppose that teacher training program costs $6000 in total.  Remember the total number of pregnancies averted calculated in (2).  How much did this program cost per pregnancy averted?  
5): Which program seems likely to be a more cost-effective way to avoid pregnancies?

6): Remember, the uniforms program not only prevented some pregnancies, it also gave free uniforms to poor people, which allowed them to go to school.  In other words, when you give free uniforms to people, this money isn’t really lost, it’s just transferred from some people to others.  Suppose the government decides that this is worth $6/student.  Then, the uniforms cost $10/student, but $6/student is benefits which are kept, so the net cost of the program is $4/student.  Now, which program seems more likely to be a cost-effective way to avoid pregnancies?

